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Brief summary of DR/BDS/DUMP group meeting (12/22)

Explanation of the status of the ILC crab cavity and discussion within the BDS group.

Attendees : Phil Burrows, Angeles Faus-Golfe, Jenny List, Thomas Markiewicz, Peter McIntosh, Toshiyuki Okugi, 
Brett Parker, Ivan Podadera, David Rubin, Robert Ryne, Nobuhiro Terunuma, Akira Yamamoto, 
Yasuchika Yamamoto, Kaoru Yokoya, Mikhail Zobov
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Crab cavity location => Original location two beamline distance
14.05m x 0.014rad = 197mm

Actual space ?
How much energy ?
Required aperture ?

First CC down-selection on 17th Sept. 2022.
(technology selection for 2 prototypes)

CC group request to show the requirement for crab cavity from BDS side by March 2022
as inputs for the technology selection.

etc.



RF Dipole (RFD) Double Quarter Wave (DQW)
Frequency      : 1.3GHz
Aperture : 20mm
Length (1TeV) : 3.3m (4 DQW)

Frequency      : 1.3GHz
Aperture : 30mm
Length (1TeV) : 4.9m (3 cryomodule)

Wide open waveguides (WOW) 
Frequency      : 1.3GHz
Aperture : 20mm
Length (1TeV) : 3.5m (5 cryomodule) QMiR cavity Frequency      : 2.6GHz

Aperture : 14mm? (<20mm)
Length (1TeV) : 1.0m (2 cavity)
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During the meeting, we decided to have a joint meeting of the crab cavity group and the BDS 
group to finalize the BDS request for the crab cavity.
• It was discussed that 2/2(WED) or 2/16(WED) would be good dates during the meeting.

• I consider to have the joint meeting at 2/16 22:00-24:00 (JST). 

• I'll send out an announcement later, please let me know if you are inconvenient.

Discussion items

• What is the actual length (flange to flange) that the crab cavity can be used?
 We will consider a more precise estimate than we have now.

• What is the aperture of the crab cavity?
 I will prepare the input for the collimation depth at ECM=500 GeV, taking into account the reduction 

of horizontal emittance (parameters have not been formally discussed yet).

• Up to what energy should we place a usable crab cavity at the start of ILC operation?
 In the previous meeting, it was suggested that ECM=250 GeV is sufficient, but we would like to hear 

from anyone who disagrees, because it is related to the energy upgrade scenario.

• Contingency ?


